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5) Hisl s LA (12 A7) % 38,794 8.12 315,000 (4= Hi4 (%,
6) Hi1 Il By B A (PREE) ¥ 51,762 7.10 367,500| 4 A4 {4,
7) MR B R (RS ) % 42,530 8.15 346,500 (4= A4 (%,
8) il By B AR (FE YA ¥ 36,590 8.61 315,000| 4 A4 {4,
9) /S AL L 5B HUEL (R /3 2) K 50 3000.00 150,000| & B[ 15 H [H]
10) /S A HE P A5 T 2 (HUPE /S 2) K 50 525.00 26,250
11) SRENFF 0 (FPE/SR) = 50 1260.00 63,000| 4@ 1 14 A [
12) /S A AP I 5 B (RGBT RO 3 2) M 120 1775.00 213,000 |5 & AR 11 A B - Bufh2eiA
13) B4F 5 K 165,000 2.75 453,750
14) S5 L K 5,000 12.00 60,000
15) B3R AL — K 100 320.00 32,000
7t 3,643,806

RERHEKEE M LHRS




25 35 HfiR

AR

1340
¥420,000 1 X THEA
IH H VA B &= Bl 4 K (M) OB
1. FHGE )3 Bty K 4,000 100.00 400,000
)T WA LR = 1 20,000.00 20,000
t 420,000

REREKEE RS




25 36 = ELffiR

HERERIAHRE 14D
¥619,000 1 = THRE
IH H VA Hf7 &= Bl 4 K (M) OB
1. IR DBIRAZ —EHl# K 100 1,280.00 128,000
B3R AL —EHRIE K 150 540.00 81,000
3)ALAF TVt K 10,000 26.00 260,000
DT A =y 1 150,000.00 150,000
t 619,000

REREKEE RS




